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QUESTION 1

Flexible NetFlow has the ability to view both key and nonkey fields. What is one example of a key field? 

A. packet data 

B. destination IP 

C. routing source 

D. timestamp sys-uptime last 

Correct Answer: B 

 

QUESTION 2

What are the four pillars of the Cisco IWAN solution? (Choose four.) 

A. transport independence 

B. hybrid WAN design 

C. transport dependence 

D. intelligent path control 

E. static routing paths 

F. application optimization 

G. RIPv1 

H. secure connectivity 

Correct Answer: ADFH 

 

QUESTION 3

What is one example of a supported hypervisor on the network compute engine? 

A. Red Hat KVM 

B. VMware vSphere Hypervisor 5.1 

C. CentOS qemu 

D. VMware Workstation 10.0 

Correct Answer: B 
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QUESTION 4

What is the purpose of intelligent path control? 

A. to efficiently distribute traffic across multiple types of links, based on policy 

B. to distribute traffic by using an active/passive mechanism 

C. to pick the best single link from a group of links to distribute all traffic 

D. to use a round-robin methodology to distribute traffic across an active/active set of links 

Correct Answer: A 

 

QUESTION 5

What is one example of a typical enterprise WAN deployment model? 

A. single or dual MPLS VPN 

B. Frame Relay 

C. VPN 

D. hub and spoke 

Correct Answer: A 
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